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1. Treasury modelling projects an increase in national saving of around 0.4 percentage points of 
GDP resulting from the gradual rise in the superannuation guarantee to 12% together with the 
measure to retain the higher cap on concessional contributions for most persons aged 50 and over.  
This modelling allows for some offsetting reduction in private saving outside of superannuation 
because of the increase in compulsory saving.  The offset factor used (30%) is in line with the 
results of Treasury and Reserve Bank analyses. 

2a)  Treasury is not aware of any studies that definitively answer this question.  The short run 
impacts will depend on the circumstances of individual enterprises. 

2b) Treasury has not modelled changes in progressivity. The primary aims of the policy are 
improved retirement incomes and higher national savings and these have been modelled. 

2c) Treasury has modelled improvements in relative retirement benefits (replacement rates) for a 
range of hypothetical individuals.  There is no definitive agreement as to what is ‘too much’.  

2d)  This is covered in part in question 1. Treasury modelling does allow for some offsetting 
reduction in private saving outside of superannuation because of the increase in compulsory saving.  
The private saving offset factor used (30%) is in line with the results of Treasury and Reserve Bank 
analysis. This offset is applied in the national saving analysis and does not impact on the projection 
of superannuation funds under management. There are strong indications that the offset is higher for 
high income groups but for most analyses an average rate is used.  

It should be noted that in estimating the increase in superannuation fund assets, the increase in SG is 
applied only where required.  For example, where the sum of employer and voluntary contributions 
is already at 12% or more, no increase in superannuation contributions is assumed. 

   


